term 2010 ∞ February the for sses EDU their S led enrol T stude all for

and beyond

	Credits Required for Graduation	Credits Taken at AIU	Tuition Cost Per Credit Hour	Program Tuition	Application Fee	Cost (includes all software and course materials)	
Associate of Arts in Business Administration (AABA) - Completion	n Program						
AABA - Completion Program	90	54	\$260	\$14,040	\$50	\$14,090	
Associate of Arts in Business Administration (AABA)						* • • • • •	
AABA concentration in Business	90	90	\$260	\$23,400	\$50	\$23,450	
AABA concentration in Criminal Justice AABA concentration in Healthcare Administration	90 90	90 90	\$260 \$260	\$23,400 \$23,400	\$50 \$50	\$23,450 \$23,450	
AABA concentration in Human Resources	90	90	\$260	\$23,400	\$50 \$50	\$23,450	
AABA concentration in Information Systems	90	90	\$260	\$23,400	\$50	\$23,450	
AABA concentration in Medical Billing and Coding	90	90	\$260	\$23,400	\$50	\$23,450	
AABA concentration in Visual Communication	90	90	\$260	\$23,400	\$50	\$23,450	
Postelon of Project Administration (PDA). Completion Program							
Bachelor of Business Administration (BBA) - Completion Program BBA concentration in Accounting	180	90	\$355	\$31,950	\$50	\$32,000	
BBA concentration in Accounting BBA concentration in Finance	180	90 90	\$355 \$355	\$31,750 \$31,950	\$50 \$50	\$32,000	
BBA concentration in Healthcare Management	180	90	\$355	\$31,950	\$50	\$32,000	
BBA concentration in Human Resource Management	180	90	\$355	\$31,950	\$50	\$32,000	
BBA concentration in International Business	180	90	\$355	\$31,950	\$50	\$32,000	
BBA concentration in Management	180 180	90 90	\$355 \$355	\$31,950	\$50	\$32,000	
BBA concentration in Marketing BBA concentration in Operations Management	180	90 90	\$355	\$31,950 \$31,950	\$50 \$50	\$32,000 \$32,000	
BBA concentration in Organizational Psychology and Development	180	90	\$355	\$31,950	\$50	\$32,000	
BBA concentration in Project Management	180	90	\$355	\$31,950	\$50	\$32,000	
Bachelor of Information Technology (BIT) - Completion Program	400	0.0	4055	\$04.050	φ=0	400.000	
BIT concentration in Computer Forensics BIT concentration in Networks	180 180	90 90	\$355 \$355	\$31,950 \$31,950	\$50 \$50	\$32,000 \$32,000	
BIT concentration in Programming	180	90 90	\$355	\$31,750 \$31,950	\$50 \$50	\$32,000 \$32,000	
BIT concentration in Security	180	90	\$355	\$31,950	\$50	\$32,000	
Bachelor of Fine Arts in Visual Communication (BFA) - Completion							
BFA concentration in Digital Design	180	90	\$361	\$32,490	\$50	\$32,540	
BFA concentration in Graphic Design BFA concentration in Illustration	180 180	90 90	\$361 \$361	\$32,490 \$32,490	\$50 \$50	\$32,540 \$32,540	
BFA concentration in Mustration BFA concentration in Web Design & Development	180	90 90	\$361 \$361	\$32,470 \$32,490	\$50 \$50	\$32,540 \$32,540	
		, ,	Ŧ	Ţ3 <u>_</u> ,	T	Ţ3 <u>—</u> ,3 .3	
Bachelor of Science in Criminal Justice (BSCJ) - Completion Program							
BSCJ concentration in Corrections	180	90	\$355	\$31,950	\$50	\$32,000	
BSCJ concentration in Forensic Science	180	90	\$355	\$31,950	\$50	\$32,000	
BSCJ concentration in General BSCJ concentration in Law Enforcement	180 180	90 90	\$355 \$355	\$31,950 \$31,950	\$50 \$50	\$32,000 \$32,000	
Please see na			•	ψυ1,700	Ψ30	ΨυΖ,000	
NOTES: Please see page 2 for Master's program listings.							

Total

Total

- 1. Program tuition and total program cost are based upon total program credits, which may vary due to transferred credits or repeated courses.
- 2. Students who graduate from the Associate of Arts Degree in Business Administration and enroll into an AIU Bachelor's Degree Program (other than Bachelor's Degree Completion Programs) may be required to take additional courses to satisfy program requirements. Taking additional courses will increase program length, program tuition, and total program costs.

 3. Program tuition is charged per credit hour each quarter throughout the student's program and is charged at the beginning of each quarter.

 4. The application fee is a one-time fee that may only be waived in certain circumstances. The application fee may only be waived for students who are re-entering; re-enrolling; enrolling with established articulation or

- Education Partner agreements; AIU Alumni; or transferring from a CEC-sponsored school.
- 5. Institutional charges include a custom suite of course materials that are provided to the student by Words of Wisdom, LLC. At the University's discretion, books may be delivered in an electronic (e-Book) or standard textbook format. Students not wishing to use e-Books are responsible for any additional charges associated with purchasing standard textbooks.
- 6. Bachelor's Degree Completion Programs Refer to the Degree Completion Program section in the catalog for entrance requirements. 7. The Bachelor of Fine Arts in Visual Communications with a concentration in Illustration begins in the 1002B session.
- 8. The Bachelor of Science in Criminal Justice with concentrations in Corrections or General begins in the 1002B session.

Total Program

2010 term and beyond ∞ February S SCHEDUL begin their classes and FEE enrolled to and all students for

	Total Credits Required for Graduation	Total Credits Taken at AIU	Tuition Cost Per Credit Hour	Program Tuition	Application Fee	Total Program Cost (includes all software and course materials)
Master of Business Administration (MBA)						
MBA concentration in Accounting and Finance	48	48	\$613	\$29,424	\$50	\$29,474
MBA concentration in Finance	48	48	\$613	\$29,424	\$50	\$29,474
MBA concentration in Healthcare Management	48	48	\$613	\$29,424	\$50	\$29,474
MBA concentration in Human Resource Management	48	48	\$613	\$29,424	\$50	\$29,474
MBA concentration in International Business	48	48	\$613	\$29,424	\$50	\$29,474
MBA concentration in Management	48	48	\$613	\$29,424	\$50	\$29,474
MBA concentration in Marketing	48	48	\$613	\$29,424	\$50	\$29,474
MBA concentration in Operations Management	48	48	\$613	\$29,424	\$50	\$29,474
MBA concentration in Organizational Psychology and Development	48	48	\$613	\$29,424	\$50	\$29,474
MBA concentration in Project Management	48	48	\$613	\$29,424	\$50	\$29,474
Master of Information Technology (MIT)						
MIT concentration in Internet Security	48	48	\$613	\$29,424	\$50	\$29,474
MIT concentration in IT Project Management	48	48	\$613	\$29,424	\$50	\$29,474
Master of Education (M.Ed.)						
M.Ed. concentration in Curriculum and Instruction	48	48	\$465	\$22,320	\$50	\$22,370
M.Ed. concentration in Educational Assessment and Evaluation	48	48	\$465	\$22,320	\$50	\$22,370
M.Ed. concentration in Instructional Technology	48	48	\$465	\$22,320	\$50	\$22,370
M.Ed. concentration in Leadership of Educational Organizations	48	48	\$465	\$22,320	\$50	\$22,370

NOTES:

- 1. Program tuition and total program cost are based upon total program credits, which may vary due to transferred credits or repeated courses.
- 2. Program tuition is charged per credit hour each quarter throughout the student's program and is charged at the beginning of each quarter.
- 3. The application fee may be waived for students enrolling under established articulation or Education Partner agreements and/or attendance at University-sponsored career events.
- 4. Institutional charges include a custom suite of course materials that are provided to the student by Words of Wisdom, LLC. At the University's discretion, books may be delivered in an electronic (e-Book) or standard textbook format. Students not wishing to use e-Books are responsible for any additional charges associated with purchasing standard textbooks.

AIU Online reserves the right to make changes at any time to the amount of tuition and fees, as set forth in the Enrollment Agreement. Notice of changes will be communicated in a revised catalog, an addendum or supplement to the catalog, or other written format.

Bachelor of Business Administration Degree Tuition Schedule - Dual Concentration

Your first concentration was included in your degree program. The required number of credits and corresponding costs are listed in the BBA table below.

BBA

Number of Number of additional credit hours per concentration per concentration		Cost per credit hour	Number of additional quarters required to complete concentration Total Cost		
18	4	\$355	1	\$6390	

Available BBA concentrations include:

Accounting
Finance
Healthcare Management
Human Resource Management
International Business
Management
Marketing
Operations Management
Organizational Psychology and Development
Project Management

Notes

- 1. Amounts listed are the total program costs and are based on a per credit hour charge of \$355.
- 2. Each course is 4.5 credit hours with two courses taken per session. A quarter consists of two five-week sessions.
- 3. Students are not eligible to declare their intention to pursue an additional concentration with their Student Advisor until one quarter prior to scheduled graduation.
- 4. Students pursuing a concentration after graduation from an AIU Online degree program are considered non-degree seeking and are not eligible for financial aid.
- 5. Program tuition and total program costs are based upon total program credits, which may vary due to transferred credits or repeated courses.
- 6. Program tuition is charged per credit hour each quarter throughout the student's program and is charged at the beginning of each quarter.
- 7. Students who complete an additional concentration as part of their degree program will have their earned concentrations listed on their diploma. Students pursuing a concentration after graduation from an AIU Online degree program are considered non-degree seeking and are not eligible to receive an additional or revised diploma.
- 8. Graduates of the AIU Online BBA without a concentration are not eligible for the BBA dual concentration in Management.
- 9. Institutional charges include a custom suite of course materials that are provided to the student by Words of Wisdom, LLC. At the University's discretion, books may be delivered in an electronic (e-Book) or standard textbook format. Students not wishing to use e-Books are responsible for any additional charges associated with purchasing standard textbooks.
- 10. Students who graduate from the Associate of Arts Degree in Business Administration and enroll into an AIU Bachelor's Degree Program (other than Bachelor's Degree Completion Programs) may be required to take additional courses to satisfy program requirements. Taking additional courses will increase program length, program tuition, and total program costs.
- 11. Bachelor's Degree Completion Programs Refer to the Degree Completion Program section in the catalog for entrance requirements.
- 12. Graduates of the BBA with a concentration in Accounting and Finance are not eligible for the BBA dual concentrations of Accounting or Finance.

Bachelor of Information Technology Degree Tuition Schedule - Dual Concentration

Your first concentration was included in your degree program. The required number of credit hours and corresponding costs are listed in the BIT table below.

BIT

and beyond

Number of additional credit hours per concentration	Number of additional courses per concentration	Cost per credit hour	Number of additional quarters required to complete concentration	Total Cost
18	4	\$355	1	\$6390

Available BIT concentrations include:

Computer Forensics Networks Programming Security

Bachelor of Science in Criminal Justice Degree Tuition Schedule - Dual Concentration

Your first concentration was included in your degree program. The required number of credit hours and corresponding costs are listed in the BSCJ table below.

BSCJ

Number of additional credit hours per concentration	Number of additional courses per concentration	Cost per credit hour	Number of additional quarters required to complete concentration	Total Cost
18	4	\$355	1	\$6390

Available BSCJ concentrations include:

Forensic Science Law Enforcement Corrections

- Amounts listed are the total program costs and are based on a per credit hour charge of \$355 for the BIT degree program and a per credit hour cost of \$355 for the BSCJ degree program.
- Each course is 4.5 credit hours with two courses taken per session. A quarter consists of two five-week sessions.
- Students are not eligible to declare their intention to pursue an additional concentration with their Student Advisor until one quarter prior to scheduled graduation.
- Students pursuing a concentration after graduation from an AIU Online degree program are considered non-degree seeking and are not eligible for financial aid.
- Program tuition and total program cost are based upon total program credits, which may vary due to transferred credits or repeated courses.
- Program tuition is charged per credit hour each quarter throughout the student's program and is charged at the beginning of each quarter.
- Students who complete an additional concentration as part of their degree program will have their earned concentrations listed on their diplomas. Students pursuing a concentration after graduation from an AIU Online degree program are considered non-degree seeking and are not eligible to receive an additional or revised diploma.
- Institutional charges include a custom suite of course materials that are provided to the student by Words of Wisdom, LLC. At the University's discretion, books may be delivered in an electronic (e-Book) or standard textbook format. Students not wishing to use e-Books are responsible for any additional charges associated with purchasing standard textbooks.
- Students who graduate from the Associate of Arts Degree in Business Administration and enroll into an AIU Bachelor's Degree Program (other than Bachelor's Degree Completion Programs) may be required to take additional courses to satisfy program requirements. Taking additional courses will increase program length, program tuition, and total program costs.
- Bachelor's Degree Completion Programs Refer to the Degree Completion Program section in the catalog for entrance requirements.
- 11. BSCJ students completing a concentration in General studies are not eligible to enroll in any other concentrations.
- 12. The Bachelor of Science in Criminal Justice with a concentration in Corrections begins in the 1002B session.

Master's Degree Tuition Schedule – Dual Concentration

Your first concentration was included in your degree program. The required number or courses, corresponding costs, and eligible concentrations for your degree program are listed below.

Please consult the AIU Online Catalog for the required additional courses to complete each eligible concentration.

Degree	Number of additional credit hours per concentration	Number of additional courses per concentration	Cost per credit hour	Number of additional quarters required to complete concentration	Total Cost
MBA	12	2	\$613	1	\$7,356
M.Ed.	18	3	\$465	1 1/2	\$8,370
MIT	18	3	\$613	1 1/2	\$11,034

Available MBA concentrations include:

Accounting and Finance (See note 11 below)

Finance (See note 12 below)

Healthcare Management

Human Resource Management

International Business

Management

Marketing

Operations Management

Organizational Psychology and Development

Project Management

Available M.Ed. Concentrations include:

Instructional Technology Curriculum and Instruction Educational Assessment and Evaluation Leadership of Educational Organizations

Available MIT Concentrations include:

Internet Security
IT Project Management

Notes

- 1. Amounts listed are total program costs and are based on a per credit hour charge.
- 2. Each course is 6 credit hours with one course taken per session. A quarter consists of two five-week sessions.
- 3. Students are not eligible to declare their intention to pursue an additional concentration with their Student Advisor until one quarter prior to scheduled graduation.
- 4. Students pursuing a concentration after graduation from an AIU Online degree program are considered non-degree seeking and are not eligible for financial aid.
- 5. Program tuition and total program cost are based upon total program credits, which may vary due to transferred credits or repeated courses.
- 6. Program tuition is charged per credit hour each quarter throughout the student's program and is charged at the beginning of each quarter.
- 7. Students who complete an additional concentration as part of their degree program will have their earned concentration listed on their diploma. Students pursuing a concentration aftergraduation from an AIU Online degree program are considered non-degree seeking and are not eligible to receive an additional or revised diploma.
- 8. Students may only pursue an additional concentration in their degree program of study.
- 9. Graduates of the AIU Online MBA in Global Technology Management are not eligible for the MBA dual concentration in Management.
- 10. Institutional charges include a custom suite of course materials that are provided to the student by Words of Wisdom, LLC. At the University's discretion, books may be delivered in an electronic (e-Book) or standard textbook format. Students not wishing to use e-Books are responsible for any additional charges associated with purchasing standard textbooks.
- 11. MBA students completing a concentration in Accounting and Finance are not eligible for the MBA dual concentration in Finance.
- 12. MBA students completing a concentration in Finance are not eligible for the MBA dual concentration in Accounting and Finance.

AlU Online reserves the right to make changes at any time to the amount of tuition and fees, as set forth in the Enrollment Agreement. Notice of changes will be communicated in a revised catalog, an addendum or supplement to the catalog, or other written format.